
 

 

問 次の式を因数分解せよ。 

 

（１） aax 162 −     （２） 22 ayax −  

 

 

 

            

 

（３） 182 2 −x      （４） aaxax 442 +−  

 

 

 

            

 

（５） xxx 10155 23 +−     （６） babba 2422 −−  

 

 

 

            

 

（７） yxyyx 542 +−−     （８） 223 462 abbaa +−  

 

 

 

            

 

（９） 363 2 +− aa     （10） 1832 ++− xx  

 

 

 

 

            

 

（11） 8124 2 +− xx     （12）2𝑥2 + 8𝑥 + 8 
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【解答】 
 

（１）𝑎(𝑥 + 4)(𝑥 − 4)    （２）𝑎(𝑥 + 𝑦)(𝑥 − 𝑦) 

 

（３）2(𝑥 + 3)(𝑥 − 3)    （４）𝑎 (𝑥 − 2)2 

 
（５）5(𝑥 − 2)(𝑥 − 1)    （６）𝑏(𝑎 − 6)(𝑎 + 4) 

 
（７）−𝑦(𝑥 + 5)(𝑥 − 1)    （８）2𝑎(𝑎 − 2𝑏)(𝑎 − 𝑏) 

 
（９）3(𝑎 − 1)2    （10）−(𝑥 − 6)(𝑥 + 3) 
 

（11）4(𝑥 − 2)(𝑥 − 1)    （12）2(𝑥 + 2)2 

 
 


